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l)cutschc Geschichte und Kultur
Hinweis: Mit den folgenden Fragen werden lhre Kenntnisse in den Bereichen ,Deutsche

Geschichte und Kultur* gepriift. Lesen Sie bitte sorgfiltig die Fragen und entscheiden Sie
sich dann fiir die richtigen Antworten!

51- In welchem der folgenden Werke manisfestiert sich die humanistische Philisophie der
Aufkliirung und somit das Gedankengut ,Toleranz gegeniiber den anderen Menschen
und Religionen.*

1) Schillers Die Jungfrau von Orleans 2) Goethes Wahiverwandschaften
3) Lessings Narthan der Weise 4) Kleists Erdben in Chile
52- Deutschland ist ein ~—-=— und liegt in ~—-—-vmeeuev,
1) Bundesstaat — Westeuropa 2) Bundesland — Mitteleuropa
3) Bundesland — Westeuropa 4) Bundesstaat — Mitteleuropa

53- Welcher der folgenden Siitze stimmt?

1) In Deutschland wird kein Bundesorgan unmittelbar vom Volk gewiihlt.

2) In Deutschland werden alle in der Verfassung erwihnten Bundesorgane unmittelbar vom
Volk gewihlt.

3) Das einzige Bundesorgan, das in Deutschland unmittelbar vom Volk gewihlt wird, ist der
Bundestag.

4) Der Bundestag ist eines der wenigen Bundesorgane, die in Deutschland unmittelbar vom
Volk gewihlt werden.

54- ----e-ee-e—ist eine Bezeichnung fiir den 1815 auf dem Wiener Kongress begriindeten
Zusammenschlusses der deutschen Einzelstaaten.
1) Deutscher Bund 2) Deutsche Republik
3) Deutsches Kaisertum 4) Deutscher Siid- und Nordverband

55- Das wichtigste politische Ereignis des Jahres 1806 in der deutschen Geschichte ist —-—--,

1) die Er6ffnung der Deutschen Bundespost

2) die Einfithrung der deutschen Reichsmark

3) die Auflésung des Heiligen R6mischen Reiches

4) der Ausbruch des siebenjdhrigen Deutsch-Franzdsischen Kriegs

56- Kiindigung bedeutet im Arbeitsrecht —————— einer Vertragspartei, das Vertragsverhiiltnis
nach Ablauf einer bestimmten Frist zu losen.
1) freiwillige Bereitschaft 2) obligatorische Bereitschaft
3) beidseitige Willenserklirung 4) einseitige Willenserkldrung

57- In welchem der folgenden Liinder ist die deutsche Sprache eine offizielle Sprache neben
dem Franzosischen und Hollindischen? In —--—seeeeee,
1) Belgien 2) Luxemburg 3) der Schweiz 4) den Niederlanden

58- Expressionismus ist

1) eine Stilrichtung des spiten 20. Jahrhunderts, die sich nur in der Bildenen Kunst etabiliert hat

2) ein aus der Literatur in die Bildende Kunst aufgenommener Stil zum Ende des 19
Jahrhunderts

3) eine Stilrichtung des frithen 20. Jahrhunderts, unter anderem in der Literatur und der
Bildenden Kunst

4) ein literarischer Stil, der nach dem Zweiten Weltkrieg der Bildenden Kunst neue Impulse
fiir die Malerei verlich

forum.konkur.in



www.konkur.in

A axio 803A YY) W5 = e Oladlas

59- Evangelische Kirche in Deutschland ist - b
1) als eine Folge der jesuitischen Bewegungen anzusehen
2) vor dem Hintergrund von Martin Luthers Reformation zu begriinden
3) als ein Erbe des orthodoxen Gedankenguts im Christentum zu bezeichnen
4) im Zusammenhang mit der liberalen Bewegung im Christentum zu rechtfertigen

60- Im Spiegelsaal von Versailles wurde 1871 -~ - proklamiert.
1) das erste Reich 2) die erste Republik
3) die Weimarer Republik 4) das deutsche Kaiserreich

61- Was bedeutet Fraktion im Kontext der parlamentarischen Tiitigkeit?
1) Die Gesamtheit der Mitglieder eines Parlaments
2) Eine Vereinigung politisch gleich gesinnter Abgeordneter
3) Die nicht an der Regierung beteiligten Parteien in einem Parlament
4) Ein Biindnis zweier oder mehrerer Parteien zur Regierungsbildung
62- Welche innenpolitische Affiire war der Grund dafiir, dass Franz Josef Straull 1962 sein
Amt als Verteidigungsminister aufgeben musste?
1) Spiegel-Affire 2) Starfighter-Affire
3) Guillaume-Aftire 4) Parteispendenaftiire
63- Helmut Kohl war der erste Bundeskanzler in der Geschichte der Bundesrepublik, der

1) 1998 aus Altersgriinden zuriicktrat
2) wegen einer Affire sein Amt niederlegen musste
3) von den Biirgern bei Wahlen direkt abgewihlt wurde
4) durch ein Misstrauensvotum des Parlaments gestiirzt ist
64- 1386 wurde die iilteste Universitiit auf (heutigem) deutschem Boden eriffnet, in welcher

Stadt?
1) Kéln 2) Berlin 3) Leipzig 4) Heidelberg

65- In der Hallstein-Doktrin, die nach Walter Hallstein, Staatssekretiir des Auswiirtigen
Amts (1951-1958) benannt war, formulierte die BRD —-—-—- -

1) ihre Pline fiir Eintritt in die Europiische Union

2) ihre Nichteinmischung in DDR-Angelegenheiten

3) (in Anbetracht der Existenz von DDR) ihren Alleinvertretungsanspruch

4) ihre Zusage gegen kommunistische Aggression, die von Sowjetunion ausging

| Grammatik
Hinweis: Mit den folgenden Fragen werden lhre Kenntnisse im Bereich ,,Grammatik*

gepriift. Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie sich dann fiir die
| richtigen Antworten!

66- Welche Alternative kommt vor dem Hintergrund des Satzes ,Streitigkeiten kinnen
nicht immer vermieden werden* in Frage?
1) Streitigkeiten vermeiden sich nicht immer.
2) Streitigkeiten gelten nicht immer als vermieden
3) Streitigkeiten hat man nicht immer zu vermeiden.
4) Streitigkeiten lassen sich nicht immer vermeiden.

67- Ich glaube, dass der Priifer ihn nicht - 1
1) hat durchfallen lassen wollen 2) durchfallen lassen wollen hat
3) durchfallen wollen lassen hat 4) hat durchfallen wollen lassen
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68- Wenn man meint, dass er eigentlich informiert gewesen sein miisste, hat man hier im
Sinne des Modalverbs ,miissen* die Bedeutung ,,- * vor Augen.

1) Verifikation 2) Vermutung
3) Maglichkeit 4) Logische Schlussfolgerung
69- Welche Form der Adjektivdeklination nach folgend- (im Nominativ) ist korrekt?
1) folgender schine Text 2) folgende schonen Texte
3) folgender schiner Text 4) folgende schoner Texte

70- Welche Deutung der folgenden Uberschrift aus der Presse ist korrekt?
Ein Aufstand, den kluge Politik hitte verhindern konnen.
1) Kluge Politik konnte den Aufstand verhindern.
2) Der betreffende Aufstand hat sich bereits ereignet.
3) Jede Art Politik ist gegen einen Aufstand machtlos.
4) Der betreffende Aufstand lieB sich nicht durch eine kluge Politik verhindern.

7 Wortschatz |
Hinweis: Mit den folgenden Fragen werden lhre Kenntnisse im Bereich ,,Wortschatz*

gepriift. Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie sich dann fiir die
| richtigen Antworten!

71-  Wenn in politischen Kreisen von einer Ubereinkunft durch beidseitiges Nachgeben die

Rede ist, spricht man von einem -----veeeeee,
1) Abgleich 2) Riickhalt 3) Kollektiv 4) Kompromismuss
72-  Die seeeememennn kommt unter anderem bei der Verletzung von Dienstpflichten durch
Annahme von Bestechungsgeldern vor.
1) Manipulation 2) Korruption 3) Verleumdung 4) Projektion
73- Die --—---—---—- bedeutet in der Wirtschaft die Verschmelzung bislang selbstindiger
Unternehmen zu einer einzigen Gesellschaft.
1) Fusion 2) Kooperation 3) Transmutaion 4) Genossenschaft
74-  Der beriihmte Politiker befindet sich seit Tagen in schlechter kirperlicher ----
1) Kontur 2) Qualitéit 3) Bildung 4) Verfassung
R der Donau steigt, im Stadtgebiet von Neuburg ist sie iiber die Ufer getreten.
1) Der Pegel 2) Die Linie 3) Der Spiegel 4) Der Boden

| Textverstindnis

Lesen Sie bitte sorgfiltig den folgenden Text und entscheiden Sie sich dann im Hinblick
| auf die jeweiligen Fragen fiir die richtigen Antworten!

In einem zum Klassiker gewordenen Aufsatz aus dem Jahr 1966 hat der Soziologe M. Rainer
Lepsius die These vertreten, dass das iiber lange Zeit relativ stabile deutsche Parteiensystem
in vier .sozialmoralischen Milieus® wurzelte: dem biirgerlich-stiidtisch-protestantischen, dem
agrarisch-protestantischen. dem katholischen und dem proletarisch-sozialistischen. Lepsius
ging es darum, den Aufstieg des Nationalsozialismus zu erkliren. Er sah eine zentrale
Ursache darin, dass die deutsche Gesellschaft wihrend der Formationsphase des
Parteiensystems im Ubergang zur Moderne aufgrund von spezifischen Problem- und
Konfliktiiberlagerungen in besonders rigide voneinander abgeschottete Milieus zerkliiftet
gewesen sei. Das habe eine mangelnde Koalitionsfiihigkeit und Problemldsungskapazitit der
eng an die Milieus gebundenen Parteien bewirkt und schlieBlich zur Erosion ihrer
Integrationskraft gefiihrt. Unterdessen beurteilt die Forschung diese Annahmen als zu
schematisch, aber das Milieu-Konzept hat sich als enorm anregend erwiesen und ist intensiv
weiterentwickelt worden. Seine Stirke im Vergleich etwa zum Klassenbegriff liegt in seiner
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76-

73

78-

79-

80-

82-

Multidimensionalitit: Es bezieht politische Loyalititen nicht nur auf soziotkonomische,
sondern auch auf kulturelle Trennlinien etwa zwischen Konfessionen oder regionalen
Sondertraditionen zuriick. deren Zusammenspiel ein sozialmoralisches Milieu erst
hervorbringt.

Welches Ziel strebte Lepsius in seinem Artikel von 1966 an?

1) Ein Konzept fiir Integrationsfihigkeit der Parteien anzubieten.

2) Die Wurzeln der Aufstinde gegen NS-Regime zu untersuchen.

3) Die Griinde fiir den Aufstieg des Nationalsozialismus aufzuzeigen.

4) Eine solide Grundlage fiir ein deutsches Parteisystem herauszuarbeiten.

Welche Bedeutung impliziert der Ausdruck ,,zum Klassiker gewordener Aufsatz* nicht?

Ein Aufsatz, - >

1) auf dessen Inhalt man sich nicht beziehen kann

2) dessen Entstehung ziemlich lange zuriickliegt

3) der viel zitiert bzw. oft gelesen worden ist

4) der als Musterbeispiel der Forschung gilt

Welcher ist aus der Sicht von Lapsius der Grund fiir die Schwiichung der Integrationskraft

deutscher Parteien?

1) Die inhomogenen Milicus, an die die deutschen Parteien gebunden waren und die daraus
resultierenden Probleme.

2) Die ablehnende Haltung deutscher Parteien gegeniiber der Moderne.

3) Die langwierige Formationsphase des deutschen Parteiensystems.

4) Der steile Aufstieg des proletarisch-sozialistischen Weltsystems.

Welcher Ausdruck fasst den Inhalt des Textes zusammen?

1) Deutsche Parteien gegen Nationalismus

2) Stabilitit des deutschen Parteiensystems

3) Parteien und sozialmoralische Milieus

4) Eindimensionalitit des Milieu-Konzepts

Wie beurteilt die neuere Forschung das Milieu-Konzept von Lapsius?

1) Akzeptabel, aber nicht wert, weiterentwickelt zu werden.

2) Interessant und anregend fiir weiter Forschungen.

3) Ohne Uberlegung, daher unverlisslich.

4) Konservativ. aber weiter anwendbar.

il ) ) Y UG ol Ky 9 F ) U g ot il b

+En qué aio se proclama la independencia de Lima y por quién?

1) 1821- San Martin 2) 1822- Simo6n Bolivar

3) 1830- San Martin 4) 1831- Simoén Bolivar
«Seguramente la union es la que nos falta para completar la obra de nuestra
regeneracion.» ;De quién es esta frase?, ; En qué texto aparece?

1) José Marti- Nuestra América

2) Simo6n Bolivar- Carta de Jamaica

3) Fidel Castro- La historia me absolvera

4) Hugo Chavez- Discurso de las Elecciones
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83-

84-

86-

87-

. Como se nombraban las viviendas de emergencia creadas en torno a las grandes
ciudades por los emigrantes que el campo expulsaba hacia los centros urbanos y
carecian de agua corriente?

1) las favelas 2) las fazendas

3) los quilombos 4) los mocambos

A qué se refiere La Teologia de la Liberacion?

1) Afirmacion de que la mision de la iglesia era luchar contra la violencia institucional
e¢jercida sobre los mas desvalidos y los pobres.

2) Intervencion militarmente de los Estados Unidos en los paises latinoamericanos
cuando la incapacidad de sus gobernantes afectaran a los intereses financieros de
terceros.

3) Declaracion de los principios religiosos que configurarian la corriente del
liberalismo e importacion de un producto. si €ste es producido a un coste mas bajo.

4) Construccion de un canal interocednico sobre la politica estadounidense y contra del
trafico maritimo.

JEn qué consiste el programa de Kennedy que diseiié para América Latina en 19617

1) LLa amenaza hacia Cuba con cancelar sus compras de azicar (monocultivo del que
dependia la economia cubana)

2) El clientelismo y el intercambio de favores y el apoyo de los poderosos sindicatos y
el voto de los trabajadores que proporcionaba la estabilidad a los regimenes
populistas.

3) La politica del intervencionismo aun mayor de Estados Unidos en las politicas
nacionales, que solo se atento tras el desmembramiento del bloque socialista a
finales de los afios 80.

4) La reforma agraria para reducir las injusticias en el medio rural, un programa de
industrializacion rapida y una reforma fiscal para fortalecer al estado y redistribuir

la riqueza.
(A quién corresponde el titulo E/ Supremo?
1) Fulgencio Batista 2) Anastasio Somoza
3) Augusto Pinochet 4) José Gaspar Rodriguez de Francia

Después de la caida de la monarquia en Brasil, surgia la repiblica del entendimiento
entre dos grupos oligarquicos, los empresarios cafeteros de Sio Paulo y los ganaderos de
Minas Gerais, que por la naturaleza corrupta del marco politico, el federalismo
favorecia a los estados mas pudientes, que podian mantener vastas redes clientelistas y
magquinarias electorales para orientar el voto hacia su candidato presidencial. Este

entendimiento dio paso a la politica -——--—---=--—n-- .
1) del Dolar 2) del Cafetalero
3) de Café Com Leite 4) de las Caioneras
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88- ;En qué gobierno se cred El Instituto Argentino de Promocion del Intercambio (IAPI) y

cudl fue su objetivo principal?

- En el gobierno de ---=--—--—---- con el objetivo de

1) Juan Domingo Perdén- favorecer la industrializacion e imponer un monopolio sobre
las exportaciones.

2) Saenz Peia- aplicar medidas de austeridad destinadas a rebajar la inflacion que
repercutieron en la reduccion del poder adquisitivo.

3) Juan Carlos Ongania- reducir los efectos de la recesion econémica mundial. en la

misma medida que otros paises bajaron los precios y disminuyeron los beneficios.
4) Carlos Menem- eliminar el fraude electoral para perpetuar el poder de la oligarquia,
permitiendo a los partidos convertirse en los verdaderos protagonistas de la vida

politica.

89-  ;Cual fue el tratado por el cual Espana perdié Cuba, Puerto Rico y las Filipinas?

1) Tratado de Paris 2) Tratado de Iguala

3) Tratado de Cordoba 4) Tratado de Westlalia
90- ;De quién es Nicaragua tan violentamente dulice?

1) José Marti 2) Rubén Dario

3) Julio Cortazar 4) Gabriel Garcia Marquez
91- Amenaza lluvia. ;Vamos en coche ------- Hueve?

1) acaso 2) tal vez 3) por si 4) no sea que
92- Ksa es la alumna --—--=----eeeeeeev me referia el otro dia cuando te hablaba de estudiantes

geniales.

1) de que 2)alaque 3) en quien 4) en la cual
93- Bueno, os acompaiiamos con tal de que luego —-—--eeeeeev a casa en coche.

1) llevarnos 2) nos lleviis 3) nos llevéis 4) nos llevaréis
94-  Después de lo sucedido no es de extraiiar que --------=--=-——-—- tan desilusionado. Pero ya

estd mejor.

1) esté 2) fuera 3) estara 4) estuviera
95- No soportaba que se¢ --—--—--———- de éL

1) rian 2) rieran 3) reian 4) reirian
96- Ayer -- -==== todo el dia.

1) tumbaba 2) estuvo tumbado

3) estaba tumbado 4) estuvo tumbando

97- Figurate que no nos hubiéramos conocido,
1) (te habrias casado conmigo? ;A qué no?
2) que ahora estaba cada uno por un lado del mundo.
3) me emigraba a otro pais y conocia otra nueva cultura
4) tu te casabas con Alejandro y. yo me casaba con Luisa.
98- ;A qué escuela literaria pertenece la poesia de Gonzalo de Berceo?

1) conceptismo 2) culteranismo
3) mester de juglaria 4) mester de clerecia
99-  ;Quién y en qué aio escribio la primera gramatica espaiiola en lengua vulgar?
1) Luis de Vives- 1612 2) Lope de Vega- 1779
3) Antonio de Nebrija- 1492 4) Garcilaso de la Vega- 1881
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104-

105-

El hipérbaton es una figura retérica que consiste en ——----—-eeeeee

1) repetir unos sonidos dentro de una misma palabra o frase.

2) cambiar el orden comun de las palabras dentro de las oraciones.

3) designar un objeto fisico o inmaterial con el nombre de una de sus partes.

4) contraponer dos sintagmas, frases o versos en cada uno de los cuales se expresan
ideas de significacion opuesta o contraria.

oA quién pertenece El si de las niiias?

1) José Cadalso 2) Tomas de Iriarte

3) Fray Luis de Ledn 4) Leandro Fernandez de Moratin

JComo se define la idea del determinismo?

1) Enfocar en los problemas relacionados con la urbanizacion y. sobre todo, los
problemas que experimentaba la clase media en su intento de dirigir la nacion
espaiiola.

2) Rechazar la teologia como un medio por el cual se podia conocer el mundo y la
logica que se privilegiaba en la busqueda de la verdad.

3) Hacer hincapié en las fuerzas ambientales y hereditarias en la formacion del ser
humano, y restar la importancia al libre albedrio.

4) Presentar la inquietud con respecto a la situacion politica del mundo y el
absolutismo del régimen de Fernando VII.

JDe quién es La rebelion de las masas? y, ;De qué se trata?

1) Ortega y Gasset- Trata de demostrar el intento de expresar ideas inaccesibles al
pensamiento logico.

2) Miguel de Unamuno- Pretender influir en el plano social y elogiar a las mujeres que
se limitan a ser buenas esposas y madres.

3) Ortega y Gasset- Trata de demostrar los problemas de la nacion espanola desde el
punto de vista de la necesidad de establecer una unién democratica.

4) Miguel de Unamuno- Pretender renovar las costumbres locales y los fundamentos
folcloricos que tanto inspiraban a los poetas y escritores de su generacion.

Esta idea de que “La dependencia de los espaioles de todas las tradiciones y costumbres

extranjeras sélo sirven para impedir el progreso nacional y la modernizacion” es de

expresada en su trabajo titulado -

1) José Zorrilla- Don Juan Tenorio

2) Emilia Pardo Bazan- La cuestion palpitante

3) Rosalia de Castro- “En las orillas de las botas azules™

4) Mariano José de Larra- “El casarse pronto y mal™

El estilo de Ana Maria Matute €§ ——----mmemmememm,
1) naturalismo 2) neorrealismo
3) modernismo 4) vanguardismo
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| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Economically, globalization has. on the whole, reinforced the economic marginalization
of African economies and their dependence on a few primary goods for which demand
and prices are externally determined. This has, in turn. accentuated poverty and
economic inequality as well as the ability of the vast number of Africans to participate
meaningfully in the social and political life of their countries. Economic and social
stagnation has also triggered a substantial brain-drain from Africa, further weakening
the ability of African countries to manage their economies efficiently and effectively.
As a result of the cultural I domination from outside that goes with globalization,
African countries are rapidly losing cultural identity and therefore their ability to
interact with other cultures on an equal and autonomous basis. borrowing from other
cultures only those aspects that meet its requirements and needs. Finally, while the
scientific and technological forces unleashed by globalization have facilitated to some
extent access by Africans to advanced technology and information, this has been at the
expense of stultifying the indigenous development of technology and distorting
patterns of production in Africa, notably by utilizing capital as against labor intensive
methods of production, which in turn increases unemployment and poverty.

Overall therefore. the negative consequences of globalization on Africa far out
way their positive impact. To reverse this situation, Africa must meet two major
challenges. The first is to introduce far-reaching changes in the assumptions, values
and objectives of the existing states. so as to transform them into truly developmental
states that are strong without being authoritarian. The second is to diversify African
economies away from dependence on a few primary commodities, especially depleting
natural resources which constitute enclaves in the overall economy, ensure a balance
between agriculture and manufacturing. and increase the competitiveness of African
goods in the world market. The achievement of these goals would require concerted
action by governments, civil society, other stakeholders, and society at large, with
active and sustained support from the international community.

106- In the economical sphere, the most important consequence of globalization in Africa is

1) limiting their interactions with the world

2) reinforcing its reliance to other countries

3) removing economic inequality from their countries

4) extending Africans' ability for participating in their social and political life
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108-

109-

110-

111-

According to the passage, Africa is -——-——eeeeev,

1) rapidly losing its own intelligent people

2) borrowing the cultural aspects that meet its needs

3) expanding the speed of globalization in its countries

4) changing the methods to manage its countries more effectively

In Africa, easy access to advanced technology and information -------eev--,
1) improves the patterns of production

2) suppresses the indigenous development of technology

3) reverses current trend of unemployment and poverty

4) increases the influence of globalization on scientific forces
Paragraph 2 provides a proper answer to this question: *--eceeeeeee 7 4"

1) How to introduce the African goods in the world market

2) How to diversify African economies away from dependency

3) How to lessen the economic marginalization of African economies
4) How to establish a balance between agriculture and manufacturing in Africa

The underlined word "concerted" in paragraph 2 means ——-e-eeeuees,
1) creative 2) enhanced 3) energentic 4) sufficient
PASSAGE 2:

The Age of Exploration has had perhaps one of the greatest impacts on global relations
of any other historic period or event. Because of this widespread discovery and
exploration movement. New World and Old World products were exchanged. This
brought horses. cows. and sheep from Europe to the New World and tobacco. cotton,
potatoes, and corn to the Old World.

European forces came to dominate large tracts of land and inhabitants around the
world, taking advantage of their perceived discoveries to colonize, settle. and exploit
the new areas. This gave rise to the Age of Imperialism, which was pushed by
increasing demand for slaves, commodities, and trade. Many existing communities and
kingdoms were abolished and taken over by European interests. With these political
aggressions came language, cultural, and religious conversions as well as genocides
and removal of indigenous peoples from their original lands and homes.

During the Age of Exploration. the slave trade grew significantly which had a
profound impact on the economy and on society as a whole. The introduction of
agricultural practices and crops was so successful that some areas now rely on
introduced foods as major dietary staples (this includes potatoes in Europe and manioc
and corn in Africa). Many of these new staples helped to increase the population sizes
in their new countries. Goods and commodities were not the only things traded during
the Age of Exploration. Additionally. technology and cultures were also shared. This
was a time when countries everywhere began to understand that the world was much
bigger than previously believed. The economies. cultures, and politics of many
countries around the world were drastically influenced by this period in history.

The best title for this passage is ------=--ux G
1) New World and Old World 2) Expanding the Old World
3) Legacy of the Age of Exploration 4) Events leading up to Global Relations
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112- The word "abolished" in paragraph 2 line 10 can be substituted by —————
1) founded 2) explored 3) controlled 4) destroyed
113- All of the following, according to the passage, are true EXCEPT ----

114-

115-

1) the age of discovery gave rise to the age of colonization

2) nowadays one of the main item of production in European countries is potatoes
3) the age of exploration had a strong effect on various sections of many countries
4) the advent of slave trade in the age of exploration had a great influence on the economy
The things traded during the Age of Exploration included -,

1) goods and commodities

2) technology and cultures

3) goods, technology and also cultures

4) major dietry staples and their production technologies

During this period, as it's referred in the passage,

1) genocides as a common event in the Old World were slopped

2) the immigrants accepted the natives' cultures and religions

3) the aboriginals were removed from their own lands

4) many countries around the world were expanded

PASSAGE 3:

Political leadership in Athens changed after the Battle of Marathon in a very specific
manner. The need for capable military commanders resulted in a new method of
selecting archons, who, as primarily judicial officials, now seemed less important than
the strategoi. Beginning in 487, therefore, archons were chosen by lot from candidates
drawn from the demes as was the Council of Five Hundred. As a result, ambitious men
shifted their interest from the archonship to the stratégia (generalship). leading
ultimately to the decline in influence of the venerable Council of the Areopagus, which
was composed of former archons.

Themistocles, who was hostile to the aristocratic ethos that granted special power
and prestige to the Areopagites. may have inspired this reform, but he cannot have
foreseen its long-term effects on Athenian politics. Selection by lot was a procedure
associated with democracy in Greece that tended to discourage the machinations of
special interest groups. It also ensured that a significant pro-portion of men eligible for
each office would participate in politics, and gave legitimacy to the process by
enlisting the gods in the choice of officials. The Athenians were no fools, however. All
would-be officeholders underwent an interrogation known as dokimasia, and the lot
was not used to select strategoi, leading to the ten strategoi becoming the most
prestigious of all Athenian officials.

At the same time. the Athenians first successfully employed one of Cleisthenes'
most remarkable innovations, ostracism, a procedure thought to have been intended to
prevent the emergence of a new tyrant. Every spring the Athenians had the option of
voting to send one of their 'fellow’ citizens into exile for ten years. The process took its
name from the ostraka—broken pieces of pottery—on which voters scratched the
name of the man they wanted to banish. Ostracized Athenians stood accused of no
crime and remained citizens, but they had to live in exile for ten years simply because
they had received a plurality of six thousand votes cast by their fellow citizens.
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116- This passage is mainly about ——-—eeeeeeeee,
1) Athens after Marathon 2) aristocracy in Greece
3) political leaders in Athens 4) the archons and strategia in Athens
117- Increase in interest in the generalship, according to the passage, resulted in ------

118-

119-

120-

121-

122-

123-

1) the reform giving high prestige to Athenians

2) preferring the venerable men as military commanders

3) choosing the demes as the Council of Five Hundred by lot

4) the reduction in effect of the respectable council of the Arepagus
Themistocles, according to the passage, ---
1) was hostile to the reform in Athenian politics

2) caused the long-term changes in Greece

3) granted special power to Arepagites

4) was against the spirit of aristocracy

Dokimasia, as referred in the passage, is a/an ---—--eeeeeee,

1) process ascribed to the most prestigious citizens

2) significant change giving legitimacy to the listed gods

3) inquiry aiming at selecting the best of all Athenian officials

4) procedure performed to prevent the emergence of a cruel ruler
Every spring a citizen was banished for ten years because --—----
1) his name had been scratched on ostraka

2) many people wanted him to be exiled

3) he had lost his right of being a citizen

4) he had committed a serious crime

(gl b ) Ll a5 4 Fu )b

Which sentence about Anglo-Saxon architecture is true?

1) It was a period in the history of architecture in England from the mid-6th century
until Norman Conquest.

2) It was rather simple structurally. but external walls were richly decorated with
geometrical ornaments.

3) Anglo-Saxon secular buildings in Britain were complicated in form, constructed
rarely using timber with thatch for roofing.

4) It consisted of rings of walls, one inside the other, while the central space contained
the main buildings.

Henry VII's victory in 1485 marked -------eeeeeee- 0

1) the start of the Wars of Roses

2) the end of the Middle Ages in England

3) the power of the catholic church in England

4) stablishing one of the most glittering courts in Europe

Which sentence about Conservative Party is true?

1) It has no real power and only limited influence.

2) It likes to increase income tax giving high priority to national defence.

3) It is a party of right of center and it stands for equality of opportunities.

4) It developed from group of MPs known as the Tories in the early 19th century.
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125-

126-

127-

128-

129-

130-

131-

132-

The Black Death -—---eeeeeeeee Y

1) took place in England in 1348

2) happened in a series of periodic epidemics

3) killed more than 60% of England population in a year

4) is the other name of the plague happened in the 14th century

Francis Bacon achieved wider international recognition than any other British painter

in 20th century probably because -

1) his influence changed the methods used by British painters

2) his works are mostly abstract also linked with the organic world

3) his paintings express better than his contemporaries the horrors of modern life

4) he aimed to return the dignity which had lost in the carnage of the Second World War

Which sentence about Wales is true?

1) Cardiff was proclaimed as the Welsh capital in 1950

2) Wales was annexed to England for legal purposes by the Laws in Wales Acts 1635-1642.

3) Wales elects 30 representatives to the 646-member House of Commons in the
parliament of the UK in London.

4) Wales was brought under a common monarch with England through conquest with
the statute of Rhuddlan in 1984.

British writer, Rudyard Kipling -----eeeeeeev o

1) was famous for writing in imaginative manner

2) was the 1908 Nobel Prize Laureate in literature

3) has vindicated and developed on idealistic philosophy of life

4) is the youngest ever recipient of the Nobel Prize for literature

In 1952, ~-eemmmemmeeen .

1) Britain tested its first hydrogen bomb

2) Calder Hall, Britain’s first nuclear power station, opened

3) CND, the Campaign for Nuclear Disarmament, was founded

4) Britain successfully tested an atom bomb in Monte Bello Island

Blitz War was ended in -——-—--mnmmv,

1) September 1939 2) September 1940

3) May 1941 4) May 1945

Which sentence about the province of Ulster is NOT true?

1) In 1922, the south part of Ulster became independent from Britain.

2) Ulster is the second largest and second most populous province in Ireland.

3) Unlike the other provinces in Ireland. Ulster has a high percentage of protestants.

4) The nine counties of Ulster are within the UK as the British province of Northern
Irland.

All of the following are true EXCEPT ——---ceeeemeeee,

1) the National Union of Women’s Suffrage Societies was formed in 1901

2) Education Act made attendance at school compulsory for all in 1885

3) married women are allowed to possess their own property in 1883

4) Education Act established free state school education in 1900

From 1714 until Victoria came to the throne in 1837 is called ~—-=--meaeeeev,
1) Edwardian Britain 2) Georgian Britain
3) Stuart Britain 4) Victorian Britain
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134-

Which sentence is NOT true?

1) Scotland is part of the United Kingdom and is ruled by England.

2) Local government in Scotland is organized into 32 unitary authorities.

3) Nicola Sturgeon is leader of the Scottish Nationul Party since November 2014.

4) Today, the main language spoken in Scotland is English, while Scots and Scottish
Gaelic are minority languages.

“Iron Lady" is a nickname dubbed to Margaret Thatcher for --—------eeenev,

1) her economic policies increasing the power of trade unions

2) her great popularity during her first years in office

3) her uncompromising politics and leadership style

4) her longest-serving period and leadership style

Under Blair’s leadership, the party used the phrase “New Labor” to --—--—-meeeeee, []

1) support a new conception referred as new capitalism

2) imitate the foreign policy of US president George W. Bush

3) distance it from previous labour policies and the traditional conception of socialism

4) introduce a series of political initiatives intended to reverse high unemployment

i) Ob) &) gy 83 5 2 )b 5 ) )

A. F'paMMaTHKA PyCCKOro si3biKa:

‘ Hucrpykuusi: B kazxaom sonpoce BbibepuTe npaBuiibHbIH BAPHAHT.

136-

137-

140-

141-

mmmmmmnmnnnees (BEYEP) TEIIOXOL HOAOMIE)] =mmmnmmnnens ( Deper Apuxn).

1) Yepes Beuep, o1 Oepera AppHkH

2) Ha Beuep. k O6epery Adpukn

3) K Beuepy. k Oepery Appukn

4) I'loa Beuepom, k Gepery

cmmmmmmneneeees Oblaa co3ana OOH, crpasbl noJyHHIH  BOMOKHOCTH paspemars
KOH(IHKTHBIC CHTYAINH B PAMKAX MEAIYHAPOAHOTO NpaBa.

1) nocae Toro Kak 2) npexae uem

3) KoJu 4) B npouecce

Ixunax poceniickoii mamunsl «Kamazn....... npumes K Guanmy u cran nobdeanresiem
TYHHCCKOI'O aBTOPA/LIH.

1) Ilepsoro 2) llepBbim 3) llepsomy 4) Iepsom

3anmmure undpoii, CKOILKO HMEH NPUIATATEILHBIX B TeKCTe:

Temaywo oaemay WbIOT W3 WEPCTHHONH MATEPHH M BHKYT HX WEPCTHHLIX HHTOK.
HanbGoaee xopomywo u ya1o0HYW A48 NPSAKH WEPCTh AT OBHbL. Y HAX 33 3AMY
OTPACTAET NIHHHAS H IyeTas wepers. M3 mepern oBen 1e1aiT HHTKH.

1)7 2)5 3)4 4)2

Y7o oboznauaer npuaacrue?

1) npu3nak npeamera rno JAeicTemio 2) npu3HaK npeaMera

3) nobasouHoOE JIeicTBHE 4) neitcreue

B kakowm cJ10Be BCE COTIACHBIC MSITKHE?

1) yaia 2) uexout 3) noprdens 4) KHU3Hb
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142- Viamure papuant, B KOTOPOM HeBepHO yrnorTpediien 1/aro ABHaenus.
1) KopabGas noarasisaer k 6epery.
2) O MOKET NeperuibIBaTh PeKy.
3) S kaxablii JeHbL HEMHOIO nornjasaio B Hacceiine.
4) Onu Ka/1blit ICHb NPOTIABAIOT MUMO ITOTO 3/1aHUS.
143- Cunonnm — ¢ppaszeos1orusm K crosy yoexars
1) cMaszaTh NATKH 2) cobparscs ¢ IyXoM
3) ckeub Kopadau 4) yrepets HOC
144- Ykamure rpaMmMaTHyecK NPaBIIALHOE NPOI0KEHHE NPe/LT0KCHIS.
Ilpucrynas Kk Hanucanuo counaecHus-paccyxaeans Ha EIM), ~ceemmmmmmaannn ’
|) yurThiBaeTCA aBTOPCKAs 103U1IMS
2) BHUMATEJILHO, BJAYMYHBO IMPOUHTANTE HCXOAHBIH TEKCT
3) yacto npobieMa GopMyANPYETCS HETOUHO, HENPABWILHO
4) kommeHTapuit K chopMyIMpoBaHHOI npodieMe HrHOpUpYeTCs
145- Ykamure HeoIHOKOPEHHOE C/10BO
1) ron 2) rojoBoii 3) roamk 4) roausiii
146- Vkamure npe/Liokenne, B KOTOPOM BbIJAEICHHOE CJIOBO SIBJISICTCH NPELIOIOM.
1) Emy ouens nonpaswiocs (BO) BPEMS ckazannoe cinoBo.
2) [loe3n npubs1 (BO) BPEMJSL. Koraa Bee yxe Obutn Ha BOK3ase.
3) lIkoasnnkoB HeoOXo0auMO 00yuaTh, Kak Bectr cebs (BO) BPEMS rposwi.
4) Cesa Bcerja ymen (BO)BPEMS nojaoiiti cnnpocHTs. YTO ¥ 4€I0BEKA HA Ayle.
147- Viamure npeLiokenne, B KOTOPOM BbUIEJICHHOE CJI0BO SBJISICTCH YHCAHTEIbHBIM.
1) 3amok, Buceptunii cHapyxu, TPHY/Ibl HerpomMko 3BsaKkHy1.
2) Cruxwas 6610 Ha YETBEPTD uaca naasba onats pasropenacs.
3) Bnepean COTHH kunomeTpor 6€3/10p0AKHOIO MyTH, JCASHON BETEP. MyCTHIHA.
4) Bo apop Bouuia mMosounuua, 1 ObE crapyxm oxusinenno navanu obeyxaars HTH
CTpaHHBIC TIPOHCIICCTBHSA € BOAOI M € JPOBAMH.

148- Ha saceaanun CoBera ¢ KPATKHM COODMIEHHEM -=--smememeeeee  yYYEHLIH CEKpETAPDL
Cmuprosa.
1) BBICTYIIHIIH 2) BbICTY A 3) BoICTYNIHIA 4) BBICTYIIHII

149- Ml 100KAB] —==mmmmmmmmmeee paborars B uaragonnom kabupere u 1oma, 4rodsl oBIAIETH
PYCCKHM HPOHIHOMECHHEM.
1) oOuasHO 2) TAKEIO 3) MHOrO 4) cwiLHO

150+ ~-emeemeeeeeee OK€AH NPHBJICKACT K ceOE BHHMAHNE YKOJOTOB PA3HBIX CTPAH.
1) MupHubrii 2) Muposoii
3) Mupckoii 4) Mupo:oOusbiii

b. Pycckas uctopus i KyJbTypa:

Uucrpykuus: B kaxaom Bonpoce BbiGepuTe NPaBHIAbLHBIH BAPHAHT.

151- [leproro pycekoro naps w3 AuHACTHH POMAHOBBIX 3BAJIM ~-=-nmmemmmemmn g
1) Asekcanp @epoposuy 2) ®enop MuxansoBuy
3) Anekceit Muxaniosuy 4) Muxaus ®OejlopoBuy
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152-

153-

159-

160-

161-

162-

163-

164-

165-

Kak xapaxrepusyercs nepuoja npasiaenust Exkarepuus: 11?
1) Ilpoceemennniii abcomoTnim

2) Koncturynmonnas MoHapxHs

3) llpeacraBuTebCKUM abCOMOTH3M

4) Coc/IOBHO-NIPEACTABUTEIBCKAS MOHAPXHS

Cobbrrust 1905-1907 rr. noay4Yuad HAZBAHHE ====-msmeemmmen "
1) bynramuoro Beka 2) I'nacnoctn
3) Ileproii pycckoii peBomOnnH 4) Orrenenn

Kakoii #3 HIKeCIeAYIOMNX POCCHICKHX KHA3ell morud B pe3yabTare TepakTa
HAPOI0BOJILIIECB”

1) Asnexcanp | 2) Anexcanap Il 3) UBan | 4) Usan 11
MepBoiii nucsMenusiii cBoa 3akonos Ipesueii PycH Ha3bIiBaJCH —--mmmmmmmmmmme ’
1) I'pamoTsr Anekces 2) JlyxoBHbi€e rpaMOTHhI

3) llpasna Spocnasa 4) Meacpanbubii 3aK0H

VYramure crosnuy 3oaoroit Opast.

1) Kues 2) Kanuisik 3) Hosropoj 4) Capaii
Ky/mkoBckan GHTBA COCTORIACEH B ====emmememeeen,

1) 1242 r. 2) 1240 r. 3) 1380 r. 4) 1359 r.

C umenem Adanacns HUKHTHHA CBA3AHO NIPOH3BEICHHE === mmnmmmmmeemm,

1) «Ilosects o llleskane» 2) «XO0KJACHHUE 3a TPH MOP»

3) «Cnoso o nonky Uropese» 4) «Ckazanue 0 MamaesoMm nodboume»
Cauxr-Ilerepdypr oCHOBAN B ~-----ennmeueae ‘

1) 1703 r. 2) 1700 r. 3)1721r. 4)1750 r.
Onucanue nyremecrsmii B Apyrue 3eman Ha PycH mosyunio HAIBaAHHE —---ceseaeeees X
1) cioBo 2) NeTONKCh 3) KuTHe 4) xoxneHune
[epBas pycckas JeTONHCH HAZBIBAJACH ====m=mmmmmmem=,

1) «Pycckas npasaa» 2) «Ilecun o Bemem Onere»

3) «IloBecTh BPEMEHHBIX JIET» 4) «Cnoso o noiaky Uropese»
AHTHYHOH KYJIBLTYPOHl HAZBIBAKT =-==nmmmmmmmean "

1) kyasTypy Jlpesuero Puma 2) KyJILTYpY APEBHHUX IIYMEPOB

3) kyastypy [pesneii [lepcun 4) kyawstypy Jpesuero Erunra
Xpucrunauncrso B Pocenn ObLI10 HPHHATO ==asamemmmacann,

1) Apocaasom Myapeim 2) Onerom

3) Baaanmupom Monomaxom 4) kuszem Baagumupom
Jlaypearamn Hobe/1eBCKOIT IpeMHH SBJSIOTCH MHCATEIM ~===mmmemennaee e

1) Aiirmaros u HIyKkumn 2) 1loaoxos u ComkeHnIMH

3) Acradbes u I'opbkuii 4) bynun u Ecenun

O aém nosecrsyer «Ciaoso o noaxky Hropese»?

1) 0 noxoze kuesckoro kus3a Mropsa na Llaperpan

2) o GopuOe pyccKuX KHA3€H ¢ MOHIOILCKHM HAIIECTBHEM

3) 0 oxo,1¢ HOBrOpO/I-CEBEPCKOTO KHA3s Urops B no0BELKYIO CTEMb
4) o rubenn KueBcKoro kua3s Urops B pesyiabrare BOCCTaHUS APEBIsH
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166-

167-

168-

169-

170-

171-

172-

175-

(Gl ) il s yS 5 U 3 sglyS G

Partie A: Francais général

Trouvez la bonne réponse:

Je ne partirai pas avant que tu ne ~—-—-—-=—-m- >

1) m"ai pardonné 2) m’es pardonné

3) m"aie pardonnée 4) m’aies pardonné

Il partirait -—------—--—--- fasse beau.

1)s7il 2) tant qu’il 3) autant qu’il 4) pourvu qu’il

Trouvez I'intrus:

1) Jean réussirait mieux, s'il le voulait.

2) S7il le voulait, Jean réussirait micux.

3) Jean, s’il le voulait, réussirait micux.

4) S’il le voulait, mieux réussirait, Jean.

Dans la Rome antique, un licteur précédait les grands ----------—--—- ¢n portant une hache

1) magistrats / entouré¢ de faiscaux

2) magistras / entouré de faisceaux

3) magistras / entourée de faiscaux

4) magistrats / entourée de faisceaux

Cet atelier de ralliement des par les bibliophiles.
1) a confectionné / chefs-d’ceuvre recherchés

2) a confectionné / chefs-d’ceuvres recherchées

3) s’est confectionné / chefs-d’ceuvre recherchés

4) s est confectionné / chef-d’ceuvres recherchés

Dépéchons-nous, dépéchons-nous, -—---m-mmememx nous aurons fini, ——----mmeememe nous serons
a table.

1) plus tét / plus tot 2) plus tot / plutot

3) plutét / plus t6t 4) plutdt / plutot

Ces livres cing francs - —

1) valent / cent / chaque 2) vaux / cent / chacun

3) valent / cents / chacun 4) vaux / cents / chacun
L’homme —-—m-meemmeee j’ai indiqué le chemin du village m’a remercié.

1) de qui 2) auquel 3) lequel 4) pour qui
Trouvez U'intrus:

1) Voila qu’il vient. 2) Voici qu’il vient.

3) Le voici qui vient. 4) Le voila qu’il vient.
~meeeeeeemeneen |2 hécasse s’aplatit immobile. Elle m’avait éventé.

1) De suite 2) Tout a coup

3) Tout de suite 4) Tout d’un coup
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176-

177-

178-

179-

180-

181-

182-

183-

184-

Partie B: Histoire et culture générale francaises

Trouvez la bonne réponse:

Laquelle des assertions suivantes n’est pas correcte au sujet du Maréchal Pétain?

1) Pendant la Seconde Guerre mondiale. il devient commandant en chef de I'armée
francaise. puis est nommé Maréchal de France.

2) 1l est condamné & mort en 1945 pour haute trahison, il est gracié et meurt en prison.

3) Pendant la Seconde Guerre mondiale, il lutte contre la Résistance frangaise.

4) Pendant la Premiére Guerre mondiale, il organise la défense de Verdun.

L'Assemblée nationale discute et vote les textes de lois qui lui sont présentés par ~—------,

1) le gouvernement, le Sénat. les députés eux-mémes

2) les députés de 1" Assemblée

3) le gouvernement

4) le Sénat

En France, les ministres agissent sous la direction -—--—--reeeve qui est responsable
devant le pouvoir --——----—=-em-- de la bonne exécution des services qu’il dirige.

1) d’un président / exécutif 2) d’un chancelier fédéral / exécutif

3) d’un premier ministre / Iégislatif 4) d"un président du conseil / judiciaire
Quelle est la premiére dynastie de France qui régna du V* au VIII® si¢cle?

1) Les Mérovingiens 2) Les Carolingiens

3) Les Capétiens 4) Les Valois

En France, la Premiére République est en fait trois régimes qui se sont suivis. Lesquels?
1) Le Directoire, le Consulat et I'Empire

2) La Convention, le Directoire et le Consulat

3) Le Consulat, la Restauration et la monarchie de Juillet

4) La Convention, la Restauration et la monarchie de Juillet

En France, —-----eeeeee- a provoqué la disparition de la Quatriéme République.

1) I'Occupation du pays 2) la Premiere Guerre mondiale

3) la guerre d’Algérie 4) la Seconde Guerre mondiale

Utilisant la technique des arcs-boutants, I'architecture -—-------eeeeee présente des fleches
pointues et ciselées, des ouvertures, des rosaces et de nombreux vitraux.

1) romane 2) baroque 3) moderne 4) gothique

Philippe Soupault, René Char, Jean Arp, Salvador Dali sont les membres du mouvement

1) symboliste 2) surréaliste 3) romantique 4) néo-classique

La Renaissance a plusicurs aspects. Laquelle des assertions suivantes n’est pas vraie?

1) La renaissance artistique qui s’ inspire des ceuvres d’arts de 1" Antiquité gréco-latine.

2) En sciences, différents textes issus des civilisations européennes ont été traduits en
arabe.

3)Une réforme religieuse: le protestantisme sépare la chrétienté de I'Europe occidentale
en deux confessions.

4) L"humanisme qui est un mouvement intellectuel remet en cause les idées scientifiques
et philosophiques admises jusque-la.

Rapport au temps centré sur le présent, mode inédit de régulation de la pratique sociale,

et fragilisation des identités collectives et individuelles sont les caractéristiques de

1) la modernité 2) I'humanisme 3) la posmodernité  4) I'existentialisme
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186- En France, ---------—-—- est une période de I’'Histoire qui débute a la fin du Moyen Age et
précéde la Révolution francaise.
1) La Renaissance 2) L*Ancien Régime
3) les Temps modernes 4) le Siecle des Lumiéres
187- L’Edit de Nantes signé en 1598 par Henri IV refuse ~—--------eeeev,

188-

189-

190-

191-

192-

193-

194 -

196-

197-

1) la liberté de culte pour les protestants

2) I"égalité civile des protestants avec les catholiques

3) le maintien des assemblées politiques par les protestants

4) les garanties dans le domaine judiciaire pour les protestants

Le mouvement ----------—-—- vise a un blocage national du pays contre la hausse du
carburant et la politique du gouvernement en général.

1) des gilets jaunes 2) contre la loi Fillon

3) des opposants de la loi Falloux 4) anti-réforme Savary

Pendant la Seconde Guerre mondiale, le gaullisme est synonyme de

1) résistance contre la démocratie 2) résistance a I’occupation nazie

3) résistance contre le communisme 4) résistance a la mondialisation

Emmanuel Macron, président de la République francaise est fondateur du mouvement
politique ----—-—-e— A

1) les Patriotes

2) I'Union centriste

3) la République en marche!

4) Parti du peuple pour la reconstruction et la démocratie

¢ (el 5 5 &) 38 308 g Gt

Which festival in India marks the victory of good over evil?

1) Holi 2) Onam 3) Diwali 4) Gobinda

In Indian social stratification --- refers to the laboring caste,

1) Vaishyas 2) Shudras 3) Brahmins 4) Kshatriyas
The name of an Indian religion called ----—---=----- is derived from a Sanskrit word

meaning victor and connoting the path of victory in crossing over life's stream of
rebirths through an ethical and spiritual life.

1) Jainism 2) Sikhism 3) Hinduism 4) Buddhism
By the last quarter of the 18th Century the ——-—-—eeu- -- had outdone all others and
established themselves as the dominant power in India.
1) Dutch 2) Spanish
3) British 4) Portuguese
Vallabhbhai Patel won the title of ~—------ ---- for his role in the Bardoli Satyagraha, in the
course of India’s struggle for liberation from British colonialism.
1) Liberator 2) Champion
3) Great man 4) Iron man of India
Indian Congress Party that was formed after independence has its roots in --—----eeeeeev ’
1) Indian National Congress 2) Indian Congress of Parties
3) Indian Congress of Experts 4) Indian Congress of the Youth
The title --------—--- that means great soul was given to Mohandas Karamchand.
1) Guru 2) Brahmin 3) Lokmania 4) Mahatma
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198-

199-

200-

201-

202-

203-

204-

205-

206-

207-

208-

India’s Upper House and Lower House are respectively called —-——veeeeeeeee,

1) Rajya Sabha and Lok Sabha

2) Vidhan Sabha and .ok Sabha

3) Vidhan Bhavan and Lok Sabha

4) Rashtrapati Bhavan and Vidhan Bhavan

The war that brought about the end of the British East India Company’s rule in India,
and led to the direct rule by the British Government (British Raj) was ----
1) The Julianwala 2) The Goa Revolt

3) The Rajputs’ Revolt 4) The Revolt of 1857
~emmeemneee=WAS$ the title of Mirza Nur-ud-din Beig Mohammad Khan Salim, one of the
successors of Akbar Shah of Mugal Empire.

1) Alamgir 2) Bahadur 3) Jahangir 4) Aurangzeb

The sixth Mughal emperor whose reign lasted for 49 years from 1658 until his death in
1707 was ====mmeemm- -

1) Akbar 2) Aurangzeb

3) Shah Jahan 4) Mohammad Salim
The founder of Sikhism was —---ceeeeeeeeeee,

1) Guru Nanak 2) Guru Amar Das

3) Guru Arjun Singh 4) Guru Gobind Singh
The holy book of the Sikhs is called -----eceeeeaueee,

1) Gitas 2) Vedas

3) Upanishads 4) Sri Guru Granth Sahib
Taj Mahal is the tomb of -----—--—--—- who was the wife of —---—eceueeuv e

1) Nour Beigum-Salim

2) Ayeshah Beigum-Aurangzeb

3) Mumtaz Mahal - Shah Jahan

4) Hamidah Beigum-Akbar Shah

The British government made its way to India through -—--—-eeeeee- .

1) British Army 2) East India Company

3) British House of Lords 4) British House of Commons

¢ (el il b ) o UG ol S35 2 )

Which phenomenon was reflective of American's resistance to change during the
Roaming Twenties?

1) Mass culture of hero worship 2) The Rebirth of the Kuklux Klan

3) The emergence of the "New Negro" 4) The emergence of the "New Woman"
Which act was passed by congress in the aftermath of the September 11, 2001 attacks?
1) The Trading with the Enemy Act 2) The Alien & Sedition Acts

3) The US Patriot Act 4) The Espionage Act

Which of the following referred to Lyndon B. Johnson's Presidential agenda?

1) The Great society 2) The New Deal

3) The Fair Deal 4) New Frontier

forum.konkur.in



www.konkur.in

Y# axawo 803A YY) o5 = ke Oldlas

209-

210-

211-

212-

Which of the following presidents was a progressive?

1) James A. Garfield 2) Andrew Jackson

3) Franklin D. Roosevelt 4) Theodore Roosevelt
Manifest Destiny was used to justify an American desire to:

1) Warn European countries against colonizing Latin America

2) Control the area located east of the Appalachian Mountains

3) Limit the number of immigrants entering the country

4) Expand the United States to the Pacific Ocean

Which one is not the key theme the Gilded Age?

1) Women's social Activism

2) Emancipation Proclamation

3) Waves & new immigrants and native assimilation

4) Transformation of rural-agricultural economy of the United States
Which one is not part of New England?

1) New Hampshire 2) Massachusetts Bay
3) Rhod Island 4) New Jersey

213- The idea of the right to "life, liberty, and the pursuit of happiness" is contained in which

214-

215-

216-

217-

of the following documents?

1) The 14 amendment to the US constitution

2) Declaration of Independence

3) The American constitution

4) The Federalist paper

Which notion does not imply American exceptionalism?

1) Belief that America is exempt from morality

2) Belief that America is the best country in the world

3) Belief that America is particularly important to God

4) Belief that American foreign policy is supposed to spread democracy throughout the
world.

The Fourteenth Amendment:

1) Recognized citizenship of women

2) Recognized women's right to vote

3) Recognized African American's right to vote

4) Recognized and granted citizenship to all persons born or naturalized in the United
States

Laissez-fair is a belief that:

1) Technology is the key to growth

2) The more government intervention the better

3) The importance of work ethic in economic affairs

4) The economy and society will tend to do better with less or no government interference

Which American value is emphasized by Thomas Jefferson in his inaugural address: "A

wise and frugal government ..... shall leave them |[men| otherwise free to regulate their

own pursuits of industry and improvement, and shall not take from the mouth of labor

the bread it has earned. This is the sum of good government"'?

1) Freedom & Expression 2) Pragmatism

3) Individualism 4) Egalitarianism
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218-

219-

220-

221-

222-

223-

224-

225-

226-

227-

228-

Which notion refers to the American society as a homogenized population made out of
many races and nations?

1) A Mosaic 2) A Melting Pot

3) A Salad Bowl 4) A Kaleidoscope
Which choice is not from the puritan myths for America?

1) Atlantis 2) Zion

3) A city upon a Hill 4) The Promised Land

Which term describes the division of power between the executive, legislative and
judicial branches of government?

1) Federalism 2) Impeachment

3) Checks and Balances 4) Judicial Review

ol oby ) ooly Sn 8 g 2 U g Al o)

HAFECHE (Japanese Grammar)

T YV —ZIEAE— FRFEFITHED ( ) A 7 URBIZE|IINT,

1) Z &k ) BE oM 3)EVIDIZ 4) b9 &
HRLRHY AN, ThIXEAERTTOT, (1 ),
NEXELE2/BEEA ) EZMNRET
NFEARWTIRHWLENERA HNEZ-ERLTT

¥ ( ) L BYBAVDHEERAZBEORN N,

HLo2D% ) DEBNTEXET

3) DOV TIZ HNERH &

¥H5LTTLL I 28k ( ) WRLRALTWRVWATTR,
Dby p) N 1l B ol

NEMBHLEF-T 4) BT nE

ZOEBIT, HPBRFEL LAEEOFHORERIT ( ) i

DT &ERWN 2) &3 bihiien

3) IZFR & 7p0Y ) (D2 IR

e, WEOH%E ( ), B ETET2ZEZ 88 BELL RoTVEH L,
)BT 2)iELT 3) LEIZ H - T

A 2 %% (Vocabulary and Kanji characters)

RN Y BT 7E T AZHME L TiEWiT 20,

1) M 2) 8T 3) R 4) P&
TOEHETHE LOERE AWVWT, £EEE2H T,
D{E-T D fEST LT HE-T
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229-

230-

231-

232-

233-

234-

KA., BEXE2ET LI LB-TWADER, AAx RBHATEDL- TS,

1) K-> T 2) ro>T Y MHET HExTC
ZOHMOFITITZ, DO ZANRB,

DitLw 2) FW 3) FEL 4) "EFHOWD
HOBREIZIZ, HOLFE VRS SAROINoT,

1)y 2) @Y 3)iE Y 4) [HHEY
WA, PELLOD L IR ETHE,

1) #FH 2) ¥ 3) #Aifi 4) FEAh
BarRLLLINHLT, SDEHEZHED LI LE-TWS,

1) Feff 2) HiK 3) HE 4) Je4R
BIXEFE28RTTR, To00BEIZR->TWVWD,

D<K LD 2) (X< X> 3) LAONT 4) LEA

235- Bliow VW T—HrPELNR DT,

236-
237-
238-

239-

240-
241-

D& r5D )T k95 3) 295N 4) Z 5
AL & FES® (Japanese Culture and History)

HAIX (236) OORIZHH2BETHS, K& (237) OBENLRD ., £
(238) O AREFL, (239) ORBHS,

1) K¢ 2) K 3) HAE 4) AR — 7 g
1) g 2) 200{# 3) 3001{# 4) 5001

1) 1EA 2) —~{R—F B A

3)—E_-FHA 4§ —E=FFH A

1)47 2) 48 3) 45 4) 46

WO BEAOEIRIZ, BB L BHERO _SOEEN 6 R IERFERE
HWTHsd, Zhit, 40) FEORKFEERFOMERE, TAV A ZHPLETD
HEEOMTIZLVHIESNE 241) IZESLKHETH D,

1) 1938 2) 1941 3) 1945 4) 1947
1) K A A< [k 2) Rik
3) B REE 4) Bt EHEE

BERARTHEHA STV BATEE, (242) FEOUEHER %I Z - 72(243)
RO LESERL LIZR-oT VD,

AAOEKEOICFET, (244) L KITEEBEE VI ZAD ) —_VEEFE &I
Lo, HFNLEREZBODLEELE EAHL TS,
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7=, BB OKDYEIZIZ, 74 b <0 WETEN 5P AR T O
SEIZHD H/PBAKEICHBER, T=A—2aZEFCHET5 (245)
EEOREPNRTERL R TELEZ LN AAROBRRD LEORHFED—T
Hdhd,

242- 1) 19684 2) 18684 3) 18694 4) 18884E
243- 1) &3 —BoEH) 2) H H BHEER)
3) WIBHE 4) BR AL 35 it
244- 1) KR 2) R HRE
3) 1| S HE Rk 4) ZHAB
245- ) YT HNF ¥ — 2) 74 b=
3) AT 4T XE YRy THANF ¥ —

e ] V) lgdnadd ad¥ lpahos) ASSLll B 3 B - Y€1
e 2505 oaoees iy Gl o s gl oo ol @008 pel K28 @ g ()
SO X SRRCISE STRTOUIN SPSHIVE. GRCTIRDRY DYFL GO L, PRI o |
SRCCL SUUR TP CASIAP SO 1 I SRRTEL JUPRRCEPRN IURRVEL SN C SN [VIPUOIL RN L R RN( PN
e ol 370 00,5 szt e 10tS odzew el (5l 0utiS SEMe 4y a5 SLSST (€
tldda GilAS Las alic] 4855 505 (18 (A8 add fhal it 13) 5 — Y £V

clddle ol it )l O 31 &5 gy Iy oy S8 5T U310 131, 393 g ls (550! 5l (i ST (0
lead o] 5

38 Gt oy Ol 093 Bl 4z lils ol J5l 1) (gt )b e o) ) azilix (Y
ol 09> U

Sz ) Sl JlSus i RIS 50 4z wwy )8 ol e 3 1) Gagm w55l e ) 3 sz (T
lsod o ) 51 &S

I e ol 5 g A e e 1y o5 a Ol 0920 22 1) 355 o s J) o5 2 (¢
ks o 31 48 ol (g5
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ool azd F oy Sl slpsend
B s @ ) Ay 0 SlaS> bip Sy Gl slted jlaluse ez plp 0 &5 L jeas (T
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Byl Lzl o) ady Sl slered
il (e - YEA
s 395 IS plol )3 LagS 0l 90 ol tlagilaaly elal 8 Olagiaa oY) olia ()
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How southern African tribes proposed to preserve their folklore since the time of

immemorial?

1) Writing the books

2) Through performing arts

3) By making traditional masks and sculptures

4) Passing down generation by generation verbally

Who stated the following sentence and when it was said?

" we will forgive, but not forget"

1) Nelson Mandela 1994 2) Rev. Desmond Tutu 2003

3) Fredrik willem de klerk 1980 4) Patrice Emery Lumumba 1960

Which countries gained their independence through a devastated war?

1) South Africa, Lesotho, Zambia

2) South Africa, Zambia, Lesotho

3) Angola, Mozambique. Zimbabwe

4) South Africa, Botswana, Swaziland (Eswatini)

The Nickname of "Rainbow Country" refers to:

1) Zambia 2) South Africa 3) Zimbabwe 4) Angola

Official enactment of Apartheid laws and racial discrimination was announced and

institutionalized in South Africa in:

1) 1910 2) 1925 3) 1948 4) 1965

The policy of Homeland (Bantustan) was implemented in South Africa in 1951 in order

to:

1) To establish a real democracy in South Africa

2) To make a peaceful transition of power from whites to blacks

3) To give more freedom to south African black people

4) To deprive South African blacks from their citizenship in South Africa and any right
to involvement with the south African parliament.

The name of the prison that Nelson Mandela imprisoned there for 18 to the 27 years,

before the fall or Apartheid was:

1) Sun City prison in the South of Johannesburg

2) Robben Island off the coast of Cape Town

3) Pollsmoor prison in Cape Town

4) C Max prison in Pretoria

Zimbabwean President who was forced to step down in a soft coup d'etat in 2017 is?

1) Robert Mugabe 2) Hage Geingob

3) Edgar lungu 4) jose Eduardo des Santos

Which country committed the first genocide of the 20™ century against Namibians from

1904-1908?

1) Portugal 2) Germany 3) United Kingdom 4) France

What are the name of two countries that were colonized by Portugal for more than 4

centuries?

1) Zambia, Namibia 2) South Africa. Lesotho

3) Zimbabwe, Botswana 4) Angola, Mozambique

forum.konkur.in



www.konkur.in

FY axio 803A M) o5 = ke Ol

316-

317-

318-

319-

320-

The origin of the first whites who arrived to South Africa was from:

1) Netherland 2) Spain 3) Greece 4) France

Which country is a member of BRICS (Association of five major emerging national
economies)?

1) Zambia 2) Mozambique 3) South Africa 4) Angola
... are Africa's oldest continuously practiced art form in South Africa"
1) Rock Painting 2) Mask 3) Sculpture 4) Woodcarving

"... " Help South African tribes to preserve their history. Religions, traditions and

identity.

1) Sport

2) Cinema and Theatre

3) The culture of reading

4) Oral traditions, tales, myths and storytelling

The use of the arts as a weapon of struggle (Resistance Arts) was implemented
extensively in the time of liberation movements in:

1) Botswana 2) South Africa
3) Lesotho 4) Swaziland (Eswatini)

forum.konkur.in



www.konkur.in

FY axio 803A M) o5 = ke Ol

forum.konkur.in



www.konkur.in

FF axio 803A M) o5 = ke Ol

forum.konkur.in





